ank% Z 1(%) = w(z-w) (%) = 2:%* =1-%

N— — VA
O Xx<1

U = b

{ é+(‘l(u)))( j()*)=— A xe(N2)
Ul x)0) = 7()<) P

AL AX o (1- ) x_ .

AS AS AS

ﬁ@)___b x(t)= 3§ %(o)_?(S)

t=¢% X = (’\ gs>)ex s = J(8)

Aamactinshe 4iven by XIE) = (1-9(s)) £ +5



g (£)
t+S < 1
<m s e // ;‘k
-t §> 2% / Lﬁ\
2

I
1 K
O TP (G W A TS 10d
Uy - U- PoSS-L{(’*
£- 1 < hotle

(50 90

B Lt Aode for o Socd stock

1 L Sm="F+2 L= %
2
LD

-— 02—
—









Qmem { a

U(xy0)=J*)

—| X< o
%é+ru2q,l)c;o ﬁ(k) :-< L x> 6
At _ Ax g0 52
5T & .
f(DJ:o x(0)=35 &) 7(8)

ft—? X=j<9)25k5

§+S Jco
XU’)-‘-{ hey S SO0




49 R I I fau. Llee. danacbn:Sht W Gtfoln ,’6&

27, = ( <
Prolloce %g + UUx= o
-1 X< o /
' X)=
Wik 176( ) { Sty e&X< & /—’J.»\-:?i‘
£ -1 £
b3 x><
1 Nsnaclbvilo j% é} X
%// x(hy= JiO0Er K
; ‘ —= £ 4> X, < o
S X[é).—_{ (-4—*%")264')(0 o<><,<'£

Lff’-f)(, L <Xy






